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do not follow simple Mendelian inheritance patterns

One example is Codominance …
[image: image2.wmf]which is the inheritance pattern where the alleles for a trait are equally expressed in the heterozygous condition.

A red cow and a white cow would produce a roan cow which includes the expression of red and white hairs. 

 a) Show the cross between a red cow and a white cow.  Use “R” and “W” for the alleles.


b) What is the probability that the red and white cow will have roan offspring? 
red offspring? 
white offspring?

c) Show the cross between two roan cows.



d) What is the probability that the roan cows will have roan offspring? 
red offspring?
 white offspring?

Another example is Incomplete Dominance, which is the inheritance pattern where alleles blend together to produce a new phenotype in the heterozygous condition.


A red four o’clock flower and a white four o’clock flower will produce a pink four o’clock flower.

a) Show the cross between a red four o’clock and white four o’clock flower.  Use R for red alleles and R’ for white alleles.


b) What the probability of a red four o’clock flower? 
white four o’clock flower?

pink four o’clock flower?

c) Show the cross between two pink four o’clock flowers.



d) What the probability of a red four o’clock flower? 
white four o’clock flower?

pink four o’clock flower?
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